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1. If A and B are independent events with P{A) = 0.65 and P(A N B)= 0.26, then, P(B) =

a. 0400
b. 0.169
c. 0390
d. 0.650
2. A six-sided die is tossed 3 times. The probability of observing three ones in a row is
a. 1/3
b. 1/6
c. 127
d. 11216
3 A simple random sample of 100 observations was taken from a large population. The sample mean and the standard
deviation were determined to be 80 and 12 respectively. The standard error of the mean is
a. 120
b. 0.12
c. 8.00
d. 0.80

Exhibit AA
The following information was obtained from independent random samples.
Assume normally distributed populations with equal variances.

Sample 1 Sample 2
Sample Mean 45 42
Sample Variance 85 90
Sample Size 10 12
4. Refer to Exhibit AA.  The 95% confidence interval for the difference between the two population means is
a. -5.361t011.36
b. -5to3
c. -4.8610 10.86
d. -2.6510 B.65
5. - Referto Exhibit AA. The null hypothesis to be tested is Hi:  ji - p2 2 0. The test statistic for the difference between
the two population means is
a. 186
b. .32
c. .748
d 1
Exhibit BB
The table below gives beverage preferences for random samples of teens and adults.
Teens Adults Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink 200 200 400
Other _50 _ 50 __1oo
400 600 1,000

We are asked to test for independence between age (i.e., adult and teen) and drink preferences.
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6. Refer to Exhibit BB. With a .05 level of significance, the critical value for the test is
a.  1.645
b. 7.815
¢ 14.067
d. 15.507
T Refer to Exhibit BB. The expected number of adults who prefer coffee is
a. 025
b. 033
c. 150
d. 200
Exhibit CC

You want to test whether or not the following sample of 30 observations follows a normal distribution.  The mean of the sample

equals 11.83, and the standard deviation equals 4.53.

2 3 -} 5 i 8 8 9 9 10
11 11 12 12 12 12 13 13 13 14
15 15 15 16 16 17 17 13 18 19
8. Refer to Exhibit CC.  The calculated value for the test statistic equals
a 0
b. 1.67
€ 2
d. 6
9. Refer to Exhibit CC.  The hypothesis is to be tested at the 5% level of significance. The critical value from the table
equals
a. 1.645
b. 1.96
c. 7815
d. 12.592
10. Refer to Exhibit CC.  The conclusion of the test is that the

a. data follows a normal distribution
b. data does not follow a normal distribution
c. testis inconclusive

d. None of these alternatives is correct.
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11 In application of statistics on quality control, consumer’s risk is

a. the same concept as the Producer’s risk
b. the probability of Type Il error
c. the probability of Type I error

None of these alternatives is correct,

12. A graph showing the probability of accepting the lot as a function of the percent defective in the lot is
a.  apower curve
b. acontrol chart
€. an operating characteristic curve

d.  None of these alternatives is correct.

Exhibit DD
Part of an ANOVA table is shown below. (hint: you need to fill the table first)

Source of Sum of Degrees Mean
Variation Squares of Freedom Square E
Between Treatments 64 8
Within Treatments 2
Error
Total 100
13. Refer to Exhibit DD.  If at 95% confidence we want to determine whether or not the means of the populations are equal,
the critical value of F is
a.  5.80
b. 293
e. 316
d. 290
14, Refer to Exhibit DD. The conclusion of the test is that the means

a. are equal
b. may be equal
¢. are not equal

d.  MNone of these alternatives is correct.
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15. In a regression model involving more than one independent variable, which of the following tests must be used in order to
determine if the relationship between the dependent variable and the set of independent variables is significant?
a. ttest
b. Ftest
c. Either a t test or a chi-square test can be used.
d. chi-square test
6. In simple linear regression analysis, which of the following is not true?
a. The F test and the t test yield the same results.
b. The F test and the t test may or may not yield the same results.
c. The relationship between X and Y is represented by means of a straight line.
d. The value of F = %,
17. In a regression and correlation analysis if i = 1, then
a. SSE must also be equal to one
b. SSE must be equal to zero
c. SSE can be any positive value
d. SSE must be negative
Exhibit EE

The following information regarding a dependent variable (Y) and an independent variable (X) is provided.

b X
4 2
3 1
4 4
6 3
8 5

SSE=6
SST=16

Refer to Exhibit EE. The least squares estimate of the Y intercept is
a 1
b. 2
C.

d 4

w
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19. Refer to Exhibit EE. The least squares estimate of the slope is
a
b.
[
d.

B —

20. Refer to Exhibit EE. The coefficient of determination is
a. 0.7096
b. -0.7906
c. 0.625
d. 0375




90 90
% i
EHHE

FHBLIRE S
D gitE

PeH © H8H

RIIAER 111 BEEHTHHEASHEE

#ELHMA 0219 B 3

=

MESERRsE2mIAERE

nia (LR} a0 [Nk
annn naian
B04%s 00517
00871 GOIg
.1255 D293
DI6IE G166
01985 02019
02324 02387
02642 02673
0.203F 0I8a7T
03212 05738
0.336] D=8
068G 03708
03888 0.3%7
04086 04081
04T 04I36
04357 04370
04474 04834
04573 05582
04556 09650
GATIY B4736 04732
04773 G478} 04785
D26 G830
faiie QABGE
64596 04895
04 Na92T
datBal .464]
04825 04955
DE0E6  QuaDET
2974 04975 0976
04931 G4PEI M40B2

DAYEE 04087 DADET D49RE

0.0
LS
00557
Q0045
0133
017a
G.2054
02383
02704
0a%es
03264
Q3508
namg
03925
04099
04251
04382
02498
04581
GaET]
04738
04793
D485

0.5
fnjee
(100
00057
0.1368
0173

G.4987

11K LA fN)

0.023¢ 00279 00309
00638 QUETS DTS
0026 0106 ALLI03
01436 00433 01260
04772 Q1808 iR

B2 03199
02458 L2
02764 (I7R4 02823
0.2ns1 L3ios
03335 03385
;3554 03599
03770 0.35i¢
03562 03887
04031 Cala2
64278 a43es
4808 04418
04815 G338
04508 [.4628
05636 0450
04750 L4761
ARG 94312
04846 G484
0,435 AEET
05908 PR
D483 2
D443 Dansi
03061 04962
04871 04273
4279 04850

04985 GAFRS N4E6
NAYEE 04980 0050

(1)
d.can
LI
Gil4l
vy
0.1E7)

0.3
03547

B4as2
baden
04074
24251
(L

04590

yto e de o= 1T

o8
EIR =4}
B 903
&5
1207




BIIZRRIIRER 111 S5 AT IHEASHAE

FHUHHA : 0219 - 8K 3

#B/EE: 90
% B EREIREZ
EHALE - HEte
B7H > H8H

e e

% 1
ri o i
i —- — - -
1
- 005 Ao 25 L0350 50 kT 990 95
1 0y 384 3.02 65,653 788
2 01 2 05 A0 5.99 7.38 9,21 10,60
3 07 A1 22 35 7.81 4.35 11.34 12,84
1 21 A0 s 71 9.4 11,14 13.28 i4.56
3 =1 a5 B3 1.15 11,07 12,83 15.09 16,75
6 K 87 1.24 1,64 1259 1445 1681 18.55
7 4949 1.24 1.69 217 107 1sm 18,48 20,28
H 1.4 1.65 2,18 273 15.51 17.53 20,08 21.96
9 1.73 2.04 270 3.3 16,92 19,02 21,67 23.59
10 216 2.06 3.25 3.4 18,31 2048 23.21 25,19
11 2,60 4.05 3,82 1,57 149,68 21.92 24,72 26.76
121 3.07 3.57 4.40 5.23 21.03 23.34 26,22 28,30
13 .57 4.11 5.01 2,8t 22,36 2074 27,69 29,82
4 407 4.66 5,63 657 2368 2612 2014 3132
I e 5,23 6.26 726 2500 2749 3058 3280
16 5.14 5.81 6.91 TO6 2630 2885 32,00

17 5.70 6,41 7.56 8.67 2759 3019 3341
18 6.26 7.m 8.23 9,139 2887 3103 34,81
19 6,84 7.63 B.91 10,12 30,14 3285 136,19
20, 743 8,26 0.59 1085 3111 3417 3757 40,00
21 8.03 8.90 10.28 1159 3267 3548 38,03 11.40
22 .61 9,54 10,95 36,78 0,29 4280
23 .26 10,20 11.64 H 35, 38,08 41,64 418
241 9,89 11,86 12,40 13.85 3642 3936 4298 15.56
25 10,52 11,52 13,12 11.61 37,65 065 4431 46,93
o 1116 12.20 13,84 1538 3889 41,92 15,64 48,29
27 11,81 12,88 1157 16,15 4011 19 696 1961
28 12,46 13.56 15.31 16.93 115 4046 JB 2R
290 1412 14,26 16.05 | frrd 1256 5,72 19.59
30 13,79 1495 16,79 IS49 4377 4698 5089
0. 2071 2216 2443 2651 5576 5934 63,69 66,77
50 27.99 29.71 32486 3,76 6G7.50 71.42 76,15 79.49
60° 35,33 40048 4319 7908 8330  83.38 91.95
70 43.28 18,76 51.71 90.53 93,02 10043 10122
s 51,17 575 6039 10188 106.63  112.33 116,32
90 59,20 65,65 6913 11314 11814 12112 12830
100 67.33 74,22 O3 12431 12956 13581 14017




gEHk 00

% P REIEEA

FEHFE - et
$eH - H8H

BITLACEIRER 111 BRI TR A ol

B 0219 B 1 3

fEgee  /oirmd

LI (1108 51
20 18513
3028
i
|_\
f
7
s
9

10 966
1 sl
12] 4.7472
13 1_1561'.{-'
1 A6001!

15 4581
6 s
17| 44513
15 4,413
19 13808
an' sl
21 1328
221000
a2
2 427
ST Iy

26 1222
270 12100
U8 d1ue0
TR BT
a0 41700
0Lss!
TR W1 TH] I
120

1491 5
149,00t
0 5530
60113
ERE T
Al
1.7474
44580
A.2065
1 l02s
30823
388D
38006
3.7880

3.5915,
G

3.5210
a0y
K3 (il
244

30852
2.3600
A5

3000

33277 |
23108 ]
3280
EREI N
BATIR

29957

==t ampme
a7l 22558

19061 197
a7 01172
(05 BRI ]
11T RN [
L WETE

13068

267

386260 56531
37088 34780
358710 AAA6T
34903, 3.2592
SA105 317
3530 322
32874 30556
323800 30069
31968

3150

3027
H

B0081

30725

30091

3.0280

300

240412

24751

BRI

29167 1

2310
26806 |
2 N
!
v

2 608 | 2

20,16
192005
R RIT

pariy

T i

32039
31059

27113
26487
26613

46285

266137
2650
245207

8 |
21095
2.

2Rk

BT
1NTAN
12066
3IRT0
35005
127 |

3.

20134

2.8521

27642
2 7066
2,6072 |

26113,

2053
2

r

;"{ﬁ_.\"i
19471
48152

a0 SUUss

PRIEY LTS

| LIGR

WFATE

44381 dassl

32906 31759

30717 3.

29480 2.85962 1
27064
27144
25158
25874

24005
2 1363 |

25119
25201
23002

2120

R LN ]
R0 U R UL
P8l LRT




